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Derivatives Quiz Review

Differentiate each function with respect to x.

1) f(x) = _%xs - £x4 + 353 2) f(x) =-5x2
37 4
3) f(x)=-2x" - %x“ + §x3 4) f(x)=-2x

5) flx)=5x° 6) (x) =3 %x4

7) f(x) = (2x5 + 5)(—x4 + 5)

e
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8) f(x) = (2x4 —5x% — 3)(4)63 — 5)

9) f(x)=(=2x> — 4x* — 2)(—4x* + 3)

10) f(x)=(3x%=2)(=2x> - 4)

1) f(x)=(=5x*=5)2x* = 2x> + 1)

12) f(x)=(5x>+2)(5x* +2)
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4 4
13) f(x):2x2+5 14) S ()= 55 +3

5x° — 3x? 3x° - 2x*
17) f(x):2x4—3x3+2x2
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2% +4x* +2x?
18 x) =
) 1) 5x°+5

19) f(x)=(5x"-2)*

21) f(x)=+V-4x*-5

23) f(x) = (=x* + 4)*(-4x* + 3)
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20) f(x)=~-5x*+2

22) f(x)=~/s5x+1
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24) f(x)=(5x° —4)’(-4x* - 5)

4 o\
25) f(x) (f;fx_i)

26) f(x)=(x5_2 )5

45" +3

27) f(x) = cos 2x*
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28) f(x) = sin 2x°
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29) f(x) = sin 5x° 30) f(x) = cos 2x>

31) f(x) = (x5 — 5)cos 3x?

32) f(x) = (—x3 + S)Sin 4x°

sin 4x>
3x*-2

33) flx)=
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cos 5x°

3 fW=5-,
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Derivatives Quiz Review

Differentiate each function with respect to x.

_ e
1) f(x) = —§x5 - %x“ + 353 2) f(x)(—) S5x
f'(x)=-10x
, 0, .5
f (x):_?x —5x" +9x
=- 10;4 — 5x° +0x?
3) f(x) = -2x° —%x‘* +§x3 4) f(X)(=)—2x
S \x)=-2
£(x) = —10x* = 3x% + 247
&S
5) f(x) =5x 6) f(x) — 35 ix4

f(x) =25x*
£'(x) = 15x* — 6x°

7) f(x) = (2x5 + 5)(—x4 + 5)

f'(x) = (2x5 + 5) - —4x7 + (—x4 + 5) - 10x*
= —18x" + 50x"* — 20x°
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8) f(x)=(2x*—5x2=3)(4x* - 5)

7(x)=(2x* = 5x% = 3) - 12x% + (4x> = 5)(8x* — 10x)
= 56x% — 100x* — 40x> — 36x* + 50x

9) f(x)=(-2x" - 4x* - 2)(-4x* + 3)

F(x) = (=2x° —4x* = 2) - —16x% + (—4x* + 3)(=10x* — 16x°)
=72x% + 128x7 — 30x* — 16x°

10) f(x)=03x>-2)(-2x*-4)

F(x)=(3x> =2) - —6x% + (—2x> — 4) - 9x?
= —36x° — 24x>

1) f(x)=(=5x*=5)2x* = 2x> + 1)

F(x) = (=5x* = 5)(10x* = 6x%) + (2x° = 2x* + 1) - —20x°
=-90x® + 70x® — 50x* — 20x> + 30x>

12) f(x)=(5x>+2)(5x* +2)

f'(x) = (Sx5 + 2) - 20x° + (5x4 + 2) . 25x*
=225x% + 50x* + 40x°
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4 4
13 = 14 =
V=25 )= 55
4. 4x 4. 15x*
fx)=-—— ) =-—"—
(2x* +5)° (5x° +3)°
o 16x _ 60x7
4x* +20x% + 25 25x% +30x° +9
5x° — 3x2 3x° - 2x*
15 === 16 _ 2t TAr
) /) 5x'+5 ) /) 357 + 4
) (5x4 + 5)(25x4 - 6x) - (5x5 - 3x2) . 20x° , (3x2 + 4)(15x4 - 8x3) - (3x5 - 2x4) - 6x
)= Lt )= i
(5x* +5) (3x% +4)
_ 5x%+6x +25x" —6x _ 27x° = 12x° + 60x* — 32x°
5x% + 10x* + 5 9x* +24x% + 16
2x% = 3x3 + 247
17 =
) S == o
)= (3x* = 2)(8x% — 9x? + 4x) — (2x* — 3x% + 2x7) - 1247
(3)64 - 2)2
_ 9x°—12x — 16x° + 18x° — 8x
9x% —12x* + 4
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B 2% +4x* +2x?

18 =
) 1) 552 +5
oy (557 +5)(10x* +16x7 + 4x) — (2x° + 4x* +2x7) - 10x
f1(x) =
(5x% +5)°
_6x° +8x7 + 10x" + 16x° + 4x
5xY +10x* +5
19) f(x)=(5x>=2)* 20) f(x)=+V-5x*+2
f'(x) = 4(5x5 - 2)3 - 25x* 1 L
= 100x*(5x° = 2)° f(x) = 5(—5x3 +2) *.—15x7
o 15x°
2(=5x3 +2)E
21) f(x)=~-4x* -5 22) fx)=5x+1
| 1 | 4
f’(x)zE(—4x3 —5) % —12x° f’(x):g(5x+ 1) °-5
_ 6x” o
S - 4
(~4x* - 5)° (5x+1)°
23) f(x) = (=x* + 4)*(-4x* + 3)
Fix)=(=x*+4)* —8x+ (-4x* +3) - 2(—x* + 4) - -3x?
= 2x(—x* + 4)(16x> - 16 — 9x)
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24) f(x)=(5x° —4)’(-4x* - 5)

f’(x) = (SX3 - 4)5 - —8x + (—4x2 - 5) . 5(5x3 - 4)4 - 15x2
= x(5x° — 4)%(=340x> + 32 - 375%)

3xt —5\*
25 =
) =22
Fl)=4. (3x4 - 5)3 (-5x-3)-12x° - (3x* - 5) - -5
—5x -3 (—5x - 3)2
_ 4(3x* = 5)*(-45x* - 36x° — 25)
(-5x-3)°
X =2 )5
26 =
) f(x) (4)54 +3
)= _(x5 -2 )4' (4x* +3) - 5x* — (x° = 2) - 16x°
7 \4xt 43 (4x* +3)?
_5x0(x® = 2)*(4x’ + 15x + 32)
(4x4 + 3)6
27) f(x)=cos 2x* 28) f(x)=sin2x*
f’(x) = —sin 2x* - 8x° f'(x) = cos 2x° - 6x°
= —8xsin 2x* = 6x2cos 2x°
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29) f(x) = sin 5x° 30) f(x) = cos 2x?

f'(x) =cos 5x° - 25x*
=25x*cos 5x°

31) f(x) = (x5 - 5)cos 3x?

f'(x) = (xs - 5) - —sin 3x% - 6x + cos 3x* - 5x*
= x(—6xsin 3x? + 30sin 3x2 + 5x>cos 3x?)

32) f(x) = (—x3 + 5)sin 4x°

7'(x)=(=x* +5) - cos 4x> - 20x* + sin 4x° - —3x?
= x*(=20x>cos 4x° + 100xcos 4x> — 3sin 4x°)

sin 4x°
33 =
) SW=Z5
f’(x) B (—3x4 - 2) - cos 4x? - 8x — sin 4x? - —12x°
(—3x4 — 2)2
B 4x(—6x4cos 4x* — 4cos 4x* + 3x7sin 4x2)
(—3x4 - 2)2
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f’(x) = —sin 2x? - 4x
= —4xsin 2x>
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cos 5x°

34) f(x)

3%’ -4
() = (3x° —4) - —sin 5x° - 15x — cos 5x° - 15x*
(3x° - 4)2
N 15x2(—3xssin 5x” + 4sin 5x° — x*cos 5x3)
(3x° - 4)2
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